STATA

STATA can fit a longitudinal logistic regression model (i.e. a random effects or mixture model). 

The logit command will fit a pooled (i.e. cross-sectional model).

The xtlogit command will fit the same longitudinal logistic regression model as SABRE. 

You must tell STATA what the identification variable is with the command i(variable name)

xtlogit femp mune und5, i(case) quad(8)

NOTE!

That is a model with NO ENDPOINTS.  

STATA uses a different level of quadrature to SABRE. If you omit the quad(8) part of the syntax STATA will estimate a model with 12 point quadrature. Keen types might like to know that you can change the quadrature in SABRE as well with the mass command (i.e. mass 12). Choosing the correct quadrature is a very complex issue many analysts will be happy with the default settings of their chosen software.

STATA uses the log likelihood rather than the deviance. Basically this is half the deviance. Think carefully though when you interpret the change in log likelihood. THE DEVIANCE AND NOT THE LOG LIKELIHOOD FOLLOWS A CHI-SQUARE DISTRIBUTION.

In STATA sigma_u is the equivalent of scale in SABRE.

rho  can be appreciated as the proportion of the total variance contributed by the panel-level variance component. Therefore when rho is zero the panel-level variance component is unimportant. Therefore when rho is zero the panel model is not a significant improvement on the pooled model. A likelihood ratio test is provided at the bottom of the output.

To read more about this procedure in STATA see the Cross-Sectional Time-Series Manual pp.123-140.
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